
Handhole

with the current N.E.C.

directed by Engineer and in accordance

a variable distance from foundation as

3/4" x 10'-0" copper clad ground rods

foundation top

min. slack above

ground wire with 18"

#6 or larger standard

type connection

Use non-solder

          

        

        

 1   4 

        

 2   4 

(SPECIAL DETAIL)

(SPECIAL DETAIL)

      MESSAGE "OPEN-CLOSED" SIGN      

Grade LevelVAR.'

20 3/4"

VAR.'

7' to grade

102"

Rdwy.

1 1/2" schedule 80 PVC

conduit 90 degree bend

                                             

6"

Alum. housing

6"
Hinge point

SIGN-700-B

Refer to sign standards

the plans)

(As indicated on 

Sign Type 1A D8-2 

      LED CHANGEABLE       

LED Changeable Message

("OPEN" or "CLOSED") Sign

W8X13 steel I-Beam support

break-away column details

See SIGN-220 series for

See SIGN-230 Series

Sign foundation

RefDoc/TR/Signals/Web/Sp Det/Fin/SIG360A.dgn   02/16/17          

     SIG-360-A     
RefDoc/TR/Signals/Web/Sp Det/Fin/SIG360A.dgn   02/16/17          

     SIG-360-A     

Michigan Department of Transportation

MICHIGAN DEPARTMENT OF TRANSPORTATION

DRAWN BY:

CHECKED BY: PLAN DATE

SHEET          

        

 BUREAU OF HIGHWAYS DELIVERY STANDARD PLAN FOR 

FHWA APPROVAL DATE

ENGINEER OF DEVELOPMENT

ENGINEER OF DELIVERY

PREPARED BY

TRAFFIC AND SAFETY

Rev.NOT TO SCALE

of       

                           

                           

                   

                                               

                        

                  File:

PLAN DATE

SHEET

MICHIGAN DEPARTMENT OF TRANSPORTATION

 BUREAU OF HIGHWAYS DELIVERY STANDARD PLAN FHWA APPROVAL DATE

NOT TO SCALE

of       File: Rev.
                   

                                              

        

                  

                

CS:

JN:
TSC:

DATE:

FILE:

DESIGN UNIT:

                                                 

                    

                            

                                                                              

      

              

Michigan Department of Transportation

DRAWING SHEET

      

      

                            

                                                                 

                                                                          

          

      

AS-LET  PLAN  REVISIONS

NO.

   

   

NO.

   

AUTH

                                   

                                 

DESCRIPTION

          

          

AUTH

                           

                           

          

          

AUTH

                           

                                     

                                   

                                 

          

          

AUTH

   

      

   

     

DESCRIPTION DESCRIPTIONDESCRIPTION

          

        

      
DATENO. DATEDATE NO. DATE

Type I sign

to column

field connect

length

1/6 sign

length

 1/4 sign

min.

(typ.)

12"1/6 sign

length

length

 1/4 sign

6" 

8"7"

Back plate (Alum.)

Transformers

Disconnect Switch

Photo cell

Light enclosure (Alum.)

Visor (Alum.)

Doorframe (Alum.)

Housing (Alum.)

polycarbonate lens

Matte/Clear 

disconnect switch

through type 

3 Pole single

A

A

6" TYP.

8" TYP.

12"D20 3/4"

102"

Photocell

Terminal Strip

welded to housing 

Alum. angle, heli-arc

2 1/2" x 2 1/2" x 1/4"

and M.O.V.

Fuseholder,

1 AMP Fuse,

("CLOSED" - 342)

("OPEN" - 264)

White LED'S

High Intensity

continuous hinge

Stainless Steel

Face plate (Alum.)

1/4 Turn link locks, stainless steel

w/knurled rivet nut 

1/4-20 Machine screws

Extruded alum.)

frame (.125

F.O. Door

WEIGH

STATION

CLOSED

NEXT RIGHT

FRONT VIEW

Ground wire

Bell End

TOP VIEW

SECTION A-A

STEEL COLUMN BREAKAWAY

for all hinges, fasteners & hardware.

Note: Use AISI 300 Series stainless steel

Switches

RelayAssy.

Dimmer

LED Electronic DriversResistor board assys.

lights (RED LED'S)

supply indicator

Failed power

2 1/2" x 2 1/2" x 1/4" Alum. Angle (welded to housing)

or gromet

Entry bushing

Door gasket

Shelf Assy. (Alum.)

Back Plate (Alum.)

FRONT VIEW

PVC conduit

(1) 1 1/2" schedule 80



 

Handhole

Weigh Station Sign

U.G. conduit/cable

Ground wire

Grade level

to control switch

        

 3   4 

        

 4   4 

(SPECIAL DETAIL)(SPECIAL DETAIL)

7' to grade

                                                                                          

W8X13 steel I-Beam support

Hinge point

W8X13 steel I-Beam support

LED Changeable Message

("OPEN" or "CLOSED") Sign

RefDoc/TR/Signals/Web/Sp Det/Fin/SIG360A.dgn   02/16/17          
     SIG-360-A     

RefDoc/TR/Signals/Web/Sp Det/Fin/SIG360A.dgn   02/16/17          
     SIG-360-A     

PLAN DATE

SHEET

MICHIGAN DEPARTMENT OF TRANSPORTATION

 BUREAU OF HIGHWAYS DELIVERY STANDARD PLAN FHWA APPROVAL DATE

NOT TO SCALE

of       File: Rev.
                   

                                              

        

                  

                

PLAN DATE

SHEET

MICHIGAN DEPARTMENT OF TRANSPORTATION

 BUREAU OF HIGHWAYS DELIVERY STANDARD PLAN FHWA APPROVAL DATE

NOT TO SCALE

of       File: Rev.
                   

                                              

        

                  

                

CS:

JN:
TSC:

DATE:

FILE:

DESIGN UNIT:

                                                 

                    

                            

                                                                              

      

              

Michigan Department of Transportation

DRAWING SHEET

      

      

                            

                                                                 

                                                                          

          

      

AS-LET  PLAN  REVISIONS

NO.

   

   

NO.

   

AUTH

                                   

                                 

DESCRIPTION

          

          

AUTH

                           

                           

          

          

AUTH

                           

                                     

                                   

                                 

          

          

AUTH

   

      

   

     

DESCRIPTION DESCRIPTIONDESCRIPTION

          

        

      
DATENO. DATEDATE NO. DATE

HANGER

See detail "A"

Offset

1/4"-20 bolt & nut

threaded 3/4" long

5/16"-20 bolt

Hex head bolt

Hanger

I-Beam support

I-Beam clamp

Sign Foundation

(zinc plated) 

as called for on plans.

Note: Fit conduit size hanger 

I-Beam Clamp

Support Brackets (3) Stiffner angle

See detail "B"

I-Beam clamps (3'-0" spacing)

below embedded stub column

Conduit must be installed

See SIGN-230 Series:

DETAIL "A"

I-BEAM SIDE VIEW

DETAIL "B"

I-BEAM CONDUIT ATTACHMENT DETAILS

PVC conduit

(1) 1 1/2" schedule 80

PVC conduit

(1) 1 1/2" schedule 80

PVC conduit

(1) 1 1/2" schedule 80


	File: 
	Trasportation Service Center: 
	Design Unit: 
	Date: 
	Control Section: 
	Job Number: 


